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Preface

	Welcome to the Cisco Certified Network Associate CCNA 200-301 world of networking excellence! As technology continues to evolve at a rapid pace, the demand for skilled professionals who can design, implement, and manage robust network infrastructures has never been greater. The Cisco Certified Network Associate (CCNA) certification, specifically the 200-301 CCNA exam, stands as a testament to your commitment to mastering the fundamentals of networking and positioning yourself as a capable and sought-after professional in the field.

	This certification is a gateway to a world of opportunities, empowering you with the knowledge and skills needed to navigate the complex landscape of modern networking. The 200-301 CCNA exam is designed to validate your understanding of networking essentials, security principles, automation, and programmability. Whether you are an aspiring network engineer, a seasoned IT professional looking to expand your skill set, or an enthusiast eager to delve into the intricacies of networking, the CCNA certification serves as a foundational milestone in your journey.

	In this comprehensive study guide, we aim to provide you with the resources and insights necessary to not only pass the CCNA exam but also to excel in real-world networking scenarios. Each chapter is crafted with precision, covering key concepts, practical scenarios, and hands-on exercises to ensure a holistic understanding of the material. Additionally, we have incorporated real-world examples and best practices based on Cisco's industry-leading technologies, giving you the knowledge and confidence to apply your skills effectively.

	Whether you are studying independently or as part of a structured training program, this guide is your companion in mastering the essential networking concepts required for the CCNA certification. We encourage you to approach the material with curiosity, engage in hands-on labs, and embrace the challenges presented. Remember, the CCNA certification is not just about passing an exam; it's about building a solid foundation that will serve as a springboard for your career in networking.
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Questions of Cisco Certified Network Associate (200-301 CCNA): Part 1

	Q.1 Which two options are the best reasons to use an IPV4 private IP space? (Choose two.)

	A. to enable intra-enterprise communication

	B. to implement NAT

	C. to connect applications

	D. to conserve global address space

	E. to manage routing overhead

	Answer: A, D

	Q.2 Refer to the exhibit. When PC1 sends a packet to PC2, the packet has which source and destination IP address when it arrives at interface Gi0/0 on router R2?

	[image: https://img.itexams.com/assets/media/exam-media/04300/0004200001.png]

	A. source 192.168.10.10 and destination 10.10.2.2

	B. source 192.168.20.10 and destination 192.168.20.1

	C. source 192.168.10.10 and destination 192.168.20.10

	D. source 10.10.1.1 and destination 10.10.2.2

	Answer:C

	Q.3 What is the same for both copper and fiber interfaces when using SFP modules?

	A. They support an inline optical attenuator to enhance signal strength

	B. They accommodate single-mode and multi-mode in a single module

	C. They provide minimal interruption to services by being hot-swappable

	D. They offer reliable bandwidth up to 100 Mbps in half duplex mode

	Answer:C

	Q.4 What are two functions of a server on a network? (Choose two.)

	A. handles requests from multiple workstations at the same time

	B. achieves redundancy by exclusively using virtual server clustering

	C. housed solely in a data center that is dedicated to a single client achieves redundancy by exclusively using virtual server clustering

	D. runs the same operating system in order to communicate with other servers

	E. runs applications that send and retrieve data for workstations that make requests

	Answer: A, E

	Q.5 Which function is performed by the collapsed core layer in a two-tier architecture?

	A. enforcing routing policies

	B. marking interesting traffic for data policies

	C. applying security policies

	D. attaching users to the edge of the network

	Answer: A

	Q.6 What is the primary function of a Layer 3 device?

	A. to transmit wireless traffic between hosts

	B. to analyse traffic and drop unauthorized traffic from the Internet

	C. to forward traffic within the same broadcast domain

	D. to pass traffic between different networks

	Answer:D

	Q.7 Which two functions are performed by the core layer in a three-tier architecture? (Choose two.)

	A. Provide uninterrupted forwarding service

	B. Inspect packets for malicious activity

	C. Ensure timely data transfer between layers

	D. Provide direct connectivity for end user devices

	E. Police traffic that is sent to the edge of the network

	Answer: A, C

	Q.8 What is a recommended approach to avoid co-channel congestion while installing access points that use the 2.4 GHz frequency?

	A. different nonoverlapping channels

	B. one overlapping channel

	C. one nonoverlapping channel

	D. different overlapping channels

	Answer: A

	Q.9 A manager asks a network engineer to advise which cloud service models are used so employees do not have to waste their time installing, managing, and updating software that is only used occasionally. Which cloud service model does the engineer recommend?

	A. infrastructure-as-a-service

	B. platform-as-a-service

	C. business process as service to support different types of service

	D. software-as-a-service

	Answer: D

	Q.10 What are two functions of a Layer 2 switch? (Choose two.)

	A. acts as a central point for association and authentication servers

	B. selects the best route between networks on a WAN

	C. moves packets within a VLAN

	D. moves packets between different VLANs

	E. makes forwarding decisions based on the MAC address of a packet

	Answer: C, E

	Q.11 An engineer observes high usage on the 2.4GHz channels and lower usage on the 5GHz channels. What must be configured to allow clients to preferentially use 5GHz access points?

	A. Client Band Select

	B. Re-Anchor Roamed Clients

	C. OEAP Spilt Tunnel

	D. 11ac MU-MIMO

	Answer: A

	Q.12 Which networking function occurs on the data plane?

	A. processing inbound SSH management traffic

	B. sending and receiving OSPF Hello packets

	C. facilitates spanning-tree elections

	D. forwarding remote client/server traffic

	Answer: D

	Q.13 Under which condition is TCP preferred over UDP?

	A. UDP is used when low latency is optimal, and TCP is used when latency is tolerable.

	B. TCP is used when dropped data is more acceptable, and UDP is used when data is accepted out-of-order.

	C. TCP is used when data reliability is critical, and UDP is used when missing packets are acceptable.

	D. UDP is used when data is highly interactive, and TCP is used when data is time-sensitive.

	Answer: C

	Q.14 A frame that enters a switch fails the Frame Check Sequence. Which two interface counters are incremented? (Choose two.)

	A. input errors

	B. frame

	C. giants

	D. CRC

	E. runts

	Answer: A, D

	Q.15 DRAG DROP -

	Drag and drop the TCP/IP protocols from the left onto their primary transmission protocols on the right.
Select and Place:

	 

	[image: Image]   

	Answer:
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	Q.16 How do TCP and UDP differ in the way that they establish a connection between two endpoints?

	A. TCP uses the three-way handshake, and UDP does not guarantee message delivery.

	B. TCP uses synchronization packets, and UDP uses acknowledgment packets.

	C. UDP provides reliable message transfer, and TCP is a connectionless protocol.

	D. UDP uses SYN, SYN ACK, and FIN bits in the frame header while TCP uses SYN, SYN ACK, and ACK bits.

	Answer: A

	Q.17 Which 802.11 frame type is Association Response?

	A. management

	B. protected frame

	C. action

	D. control

	Answer: A

	 

	Q.18 In which way does a spine-and-leaf architecture allow for scalability in a network when additional access ports are required?

	A. A spine switch and a leaf switch can be added with redundant connections between them.

	B. A spine switch can be added with at least 40 GB uplinks.

	C. A leaf switch can be added with connections to every spine switch.

	D. A leaf switch can be added with a single connection to a core spine switch.

	Answer: C

	Q. 19
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	R1#sh ip ro

	Gateway of last is 10.10.10.18 to network 0.0.0.0

	10.0.0.0/8 is variably subnetted, 4 subnets, 3 masks

	C      10.10.10.0/30 is directly connected, FastEthernet0/1

	O      10.10.13.0/25 [110/6576] via 10.10.10.1, 06:58:21, FastEthernet0/1

	C      10.10.10.16/30 is directly connected, FastEthernet0/24

	O      10.10.13.144/28 [110/110] via 10.10.10.1, 06:58:21, FastEthernet0/1

	B*      0.0.0.0/0 [20/0] via 10.10.10.18, 01:17:58

	Refer to the exhibit. Which type of route does R1 use to reach host 10.10.13.10/32?

	A. default route

	B. network route

	C. host route

	D. floating static route

	Answer: B

	Q.20 What identifies the functionality of virtual machines?

	A. The hypervisor communicates on Layer 3 without the need for additional resources.

	B. Each hypervisor supports a single virtual machine and a single software switch.

	C. The hypervisor virtualizes physical components including CPU, memory, and storage.

	D. Virtualized servers run efficiently when physically connected to a switch that is separate from the hypervisor.

	Answer: C

	Q.21 Which command automatically generates an IPv6 address from a specified IPv6 prefix and MAC address of an interface?

	A. ipv6 address dhcp

	B. ipv6 address 2001:DB8:5:112::/64 eui-64

	C. ipv6 address autoconfig

	D. ipv6 address 2001:DB8:5:112::2/64 link-local

	Answer:C

	Q.22 When configuring IPv6 on an interface, which two IPv6 multicast groups are joined? (Choose two.)

	A. 2000::/3

	B. 2002::5

	C. FC00::/7

	D. FF02::1

	E. FF02::2

	Answer:D, E

	Q.23
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	Router1#show ip route

	Gateway Of last resort is 10.10.11.2 to network 0.0.0.0

	 

	209.165.200.0/27 is subnetted, 1 subnets

	B            209.165.200.224 [20/0] via 10.10.122, 03:22:14

	209.165.201 0/27 is subnetted, 1 subnets

	B            209.165.201.0 [20/0] via 10.10.122, 02:26:33

	 

	209.165.202.0/27 is subnetted, 1 subnets

	B            209.165.202.128 [20/0] via 10.10.12.2, 02:26:03

	10.0.0.0/8 is variably subnetted, 8 subnets, 4 masks      

	C            10. 10. 10.0/28 is directly connected, GigabitEthernet0/0            

	C            10.10.11.0/30 is directly connected, FastEthernet2/0

	C            10.10.12.0/30 is directly connected, GigabitEthernet0/1

	O            10.10.13.0/25[110/2] via 10.10.10.1, 00:00:04, GigabitEthernet0/0

	O            10.10.13.128/28 [110/2] via 10.10.10.1, 00:00:04, GigabitEthernet0/0

	O            10.10.13.144/28 [110/2] via 10.10.10.1, 00:00:04, GigabitEthernet0/0

	O            10.10.13.160/29 [110/2] via 10.10.10.1, 00:00:04, GigabitEthernet0/0

	O            10.10.13.208/29 [110/2] via 10.10.10.1, 00:00:04, GigabitEthernet0/0

	S*      0.0.0.0/0 [1/0] via 10.10.11.2

	Refer to the exhibit. Which prefix does Router1 use for traffic to Host A?

	A. 10.10.10.0/28

	B. 10.10.13.0/25

	C. 10.10.13.144/28

	D. 10.10.13.208/29

	Answer: D

	Q. 24 What is the default behavior of a Layer 2 switch when a frame with an unknown destination MAC address is received?

	A. The Layer 2 switch forwards the packet and adds the destination MAC address to its MAC address table.

	B. The Layer 2 switch sends a copy of a packet to CPU for destination MAC address learning.

	C. The Layer 2 switch floods packets to all ports except the receiving port in the given VLAN.

	D. The Layer 2 switch drops the received frame.

	Answer: C

	Q. 25An engineer must configure a /30 subnet between two routes. Which usable IP address and subnet mask combination meets this criteria?

	A. interface e0/0 description to XX-AXXX:XXXXX ip address 10.2.1.3 255.255.255.252

	B. interface e0/0 description to XX-AXXX:XXXXX ip address 192.168.1.1 255.255.255.248

	C. interface e0/0 description to XX-AXXX:XXXXX ip address 172.16.1.4 255.255.255.248

	D. interface e0/0 description to XX-AXXX:XXXXX ip address 209.165.201.2 225.255.255.252

	Answer: D

	Q. 26 Which network allows devices to communicate without the need to access the Internet?

	A. 172.9.0.0/16

	B. 172.28.0.0/16

	C. 192.0.0.0/8

	D. 209.165.201.0/24

	Answer: B

	Q. 27

	Router (config) {interface GigabitEthernet 1/0/1

	Router address 192.168.16.143 255 .255 .255.240

	Bad mask / 28 for address 192.168.16.143

	Refer to the exhibit. Which statement explains the configuration error message that is received?

	A. It belongs to a private IP address range.

	B. The router does not support /28 mask.

	C. It is a network IP address.

	D. It is a broadcast IP address.

	Answer: D

	Q.29 Which IPv6 address type provides communication between subnets and cannot route on the Internet?

	A. link-local

	B. unique local

	C. multicast

	D. global unicast

	Answer: B

	Q.30DRAG DROP –

	[root@HostTest ~]# ip route

	default via 192.168.1.193 dev eth1 proto static

	192.168.1.0/26 dev ethl proto kernel scope link src 192.168.1.200metric 1

	[root@HostTest ~]# ip addr show eth1

	eth1 : mtu 1500 qdisc pfifo_fast qlen 1000

	link/ether 00:0C:22:83:79:A3 brd ff:ff:ff:ff:ff:ff

	inet 192.168.1.200/26 brd 192.168.1.255 scope global eth1

	inet6 fe80: : 20c:29ff:fe89:79b3/64 scope link

	valid_lft forever preferred_lft forever

	Refer to the exhibit. Drag and drop the networking parameters from the left onto the correct values on the right.

	Select and Place:

	Answer Area
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	Answer: 
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	Q.31 Which IPv6 address block sends packets to a group address rather than a single address?

	A. 2000::/3

	B. FC00::/7

	C. FE80::/10

	D. FF00::/8

	Answer: D

	Q.32 What are two reasons that cause late collisions to increment on an Ethernet interface? (Choose two.)

	A. when Carrier Sense Multiple Access/Collision Detection is used

	B. when one side of the connection is configured for half-duplex

	C. when the sending device waits 15 seconds before sending the frame again

	D. when a collision occurs after the 32nd byte of a frame has been transmitted

	E. when the cable length limits are exceeded

	Answer: B, E

	Q.33 What is a benefit of using a Cisco Wireless LAN Controller?

	A. It eliminates the need to configure each access point individually.

	B. Central AP management requires more complex configurations.

	C. Unique SSIDs cannot use the same authentication method.

	D. It supports autonomous and lightweight APs.

	Answer: A

	Q.34 Which action is taken by switch port enabled for PoE power classification override?

	A. If a monitored port exceeds the maximum administrative value for power, the port is shutdown and err-disabled.

	B. When a powered device begins drawing power from a PoE switch port, a syslog message is generated.

	C. As power usage on a PoE switch port is checked, data flow to the connected device is temporarily paused.

	D. If a switch determines that a device is using less than the minimum configured power, it assumes the device has failed and disconnects it.

	Answer: A

	Q.35 What occurs to frames during the process of frame flooding?

	A. Frames are sent to all ports, including those that are assigned to other VLANs.

	B. Frames are sent to every port on the switch that has a matching entry in MAC address table.

	C. Frames are sent to every port on the switch in the same VLAN except from the originating port.

	D. Frames are sent to every port on the switch in the same VLAN.

	Answer: C
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